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OCR Y113; Britain 1930-1997

Summer Term
1964-1970 Wilson government

We will begin our study in 1964, exploring how the Labour Party was able to overturn the
large majority the Conservatives obtained under Macmillan in 1959. We will observe the
social, political and economic changes that appear rapid in the period of the 1960s. Then,
moving from the social liberal 1960s to the economic tumultuous 1970s, we see Britain in
decline and how both parties face challenges.

During this process you will develop your understanding of what it means to be a historian,
including the different skills and processes involved. The main skill for this half-term will be our

20 mark essay question, where key chronological detail is woven with critical analysis to
reach ajudgement.
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PERSONAL DEVELOPMENT: You will explore some of
the most significant social reforms in recent British
history, from the decriminalisation of male
homosexuality; the liberalising of divorce and
abortion, to the beginning of multicultural and
racially-tolerant Britain. Modern Britain of today will
unfold before us.

HISTORY VOCABULARY: decriminalisation,
permissive, progressive, liberal, tolerance,
recession, dispute.

SKILLS VOCABULARY: consistent analysis,
judgements and cause and
conseqguence.




